Rapunzel <= —

5 fingers strategy:
S W B - T
(Somebody) What did the But, what was So, How did Then, Solution
Who is the Character want? Problem characters solve How did it end?
character? The problem?

1. S=Whoisthe main characters? Snow white Cinderella Rapunzel Dwarfs
2. W = What did the witch want? Fly on her broom Save the Prince To have the baby
3. B =What was the Problem? Rapunzel couldn’t sing

Rapunzel was locked in the Witches Castle Rapunzel was bored

4. S=How did the main character solve the problem? Knit a rope to escape
Jump out of the castle and ran away Yelled for help

5. T=Then, Solution, how did it end?



